Name:

Average Atomic Mass

1. Two isotopes of copper have a mass of 62.93 amu and 64.93 amu. Calculate their average atomic mass if one occurs 69.09% and the other 30.91%, respectively.

2. The element Eu occurs naturally as a mixture of 47.82% whose mass is 150.0 amu and 52.18% whose mass is 152.9 amu. Calculate the average atomic mass of Eu.

3. Naturally occurring boron consists of two isotopes. One occurring 19.6% has a mass of 10.01 amu and the other occurring 80.4% has a mass of 11.01 amu.

4. Lead is composed of four isotopes. Their abundance and masses are given below. Calculate the average atomic mass.

Isotope 

Mass (amu) 

Abundance(%)

  Pb-204

  203.97

     1.48


  Pb-206

  205.97

     23.6

  Pb-207

  206.98

     22.6

  Pb-208

  207.98

     52.3

5. What is the atomic mass of hafnium if, out of every 100 atoms, 5 have a mass of 176, 19 have a mass of 177, and 26 have a mass of 178, 14 have a mass of 179 and 36 have a mass of 180.

6. What is the atomic mass of lithium if 7.42% of its atoms have a mass of 6.02 amu and 92.58% of its atoms have a mass of 7.02 amu.

7. Compute the average atomic mass of chromium if the relative amounts are as follows:

Isotopic Mass

     Abundance (%) 

49.9    4.31






51.9    83.8

52.9    9.55


53.0    2.38

      8.   Compute the average atomic mass of gallium, if 60.0% of the gallium atoms occurring in nature have a mass number of 69 and 40.0% of the atoms have a mass number of 71.

